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ALLOTMENT OF MARKS

. 1 and 2 [Section—A (Reading)] = 20

. 3-5 [Section—B (Writing)] | = 20
. 6-8 [Section—C {G.rammar)'] : = 10
. 9-14 [Section—D (Textual Questions}] = 40
Total = 90
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1.

(2)

SECTION—A
({ Reading )

Read the following passage carefully and answer the
guestions that follow :

King Bruce was a famous king of Scotland in Europe. He
was a true patriot. He was very brave and courageous
also. The ruler of England was very jealous of him. He
raised a large army and invaded Scotland. Unluckily
Bruce suffered a defeat and he had to run for life. So, the
country of Scotland came under the English rule.

King Bruce made six brave attempts to free his country
from the English yoke but all in vain. So, he was
disappointed. He ran to a forest and hid himself in a cave.
He was going to give up trying any more.

Suddenly the king’s eyes fell on a spider hanging from a
thread. It was trying to reach its cob-web. Every time it
went up, it slipped down. But it kept trying again and
again. It went on making effort after effort non-stop. Bruce
counted nine brave attempts of the spider. Still it could
not reach the cob-web.

The king was sure that the insect would now leave
attempting any more. But he was in the wrong. Nine
failures did not discourage the spider. It did not lose heart.
After taking a little rest it started its tenth attempt. Step by
step it went up. At first the king said, “Silly sp1der' Why
doesn’t it leave the attempt?” |

' But the king was surpr_ised to sce that this time the spider

was just at the door-step of its cob-web. The king now
watched it eagerly. Lo! A brave leap nestled it in its home.
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(3)

“Bravo! Bravol!” the king cried out in praise, “all honour to

those who try. Surely, I too must try again to win my
throne.”

So, Bruce raised an army once again. He invaded his

~ enemy, the English king, with such a force that he won a

2.

-Questions :
{a) (i} Who was King._Bruce? ._ 1
(ti) Where did King Bruce run and where did he hide
himself? : : 1
(it} Why had King Bruce to run away? _ 1
(ivy) What did King Bruce observe in the cave? 1
(v) What did King Bruce say to the spider at first? 2
(vij What did King Bruce say to the spider at the
end?
(vij How did King Bruce make Scotland free? -
| {b). Pick out the words from the passage that mean the
follomng - o 1x2=2
| i) A person who loves his or her country
(u) Ready to face and endure danger or pain :'
Read the following passage given below and a.nswer the
questions that follow :
1. - Ratan Tata had dreamt of manufactunng the cheapest |
_car in India and in the world for € one lakh, which.
most people could afford. India is a country of
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grand victory. Scotland was free and Bruce was on his
throne again.
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(4)

middle-class people and most aspire to have a car.
Therefore, a car which would meet their budget was
very much required. The car’s design and features
must be artistic, pleasing and people should get
attracted to it and desire to buy it. To make this car,
Ratan Tata had to be very careful about spending on
the development of the car and this was the biggest
challenge. This was where most of the internationally
well-known global carmakers had given up.

2. Ratan Tata had often observed families riding on two-

wheelers, the father driving, the elder child standing in
front, the mother sitting behind, holding the younger
child or the baby. After seeing this, he thought about a
car which would be affordable, safe, sustainable in all
weather conditions. He then started working on the
Nano project with his team and has today made a
cheap but luxurious car for the people. He has fulfilled
not only his own dream, but also the dream of some
people who could not afford a car for a long time.

3. Ratan Tata had a business opportunity, he dreamt

well for the people and not only did he fulfill his own
dream, but also fulfilled the dreams of others by
creating the Nano. People will be inspired by the
achievements of Ratan Tata and will come up with
better ideas. | | |

Questions

(a) On the basis of your reading of the above passage,
make notes on it and add a suitable title to it.

(b) Make a summary of the above pas_éag_é in aboi.It |

80 words.

(5)

SECTION—B
( Writing )

3. You are arranging an educational tour to Tezpur in the
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last week of May. Describe your preparations to your
classmates in about 100 words.

OR

You are Ramesh /Rina. You were one of the volunteers who
donated blood at the Blood Donation Camp organized by
the Students’ Union of your school/college. Write a
description about your experience and feelings while
donating blood (maximum 100 words).

Write an article for your school/college magazine on the
preventive measures for COVID-19 pandemic using the
following points : '

{iy Clean your hands often
(i) Maintain a safe distance
(i) Wear a mask

(iv) Stay home if you feel unwell and immediately consult
a doctor '

OR

Write an ar_ticlq for your school/college magazine on the
importance of cleanliness in the school/college campus.
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(6)

5. You are Ashish/Asha. You are planning to spend your
summer vacation in Assam Bhawan, Kolkata. Write a
letter to the Manager of Assam Bhawan (Russell Street,
Middleton Row, Park Street, Kolkata-700071) requesting
him to reserve a room for you.

OR

Write a letter to the Editor of The Assam Tribune’ drawing
attention of the authorities concerned to the problem of
waterlogging and poor drainage system in your locality.

SECTION—C

( Grammar )

6. (a} Fill in the blanks with suitable determiners (any

8 .

three) : o - 1x3=3

iy She made mlstakes while writing.

(much/ many)

friends in this city.
{(few/a few/the few)

(i) 1 have _

(iii) She has barely beautiful dress.

(some /any)

fiv) ___ care could have prevented the accident.

(Little/ A little)
(v) The Ganges is holy river. {a/an)

— . plants every day.

(vi) The gardener waters
' (this/that/these)
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7.

( 7))
(b) Rewrite any three of the following sentences with the
correct form of verb given in the brackets : 1x3=3
() It (rain) now, we can’t go out.
(ii) She (read) a book when ! visited her.
(iii} People (shout) when fire broke out last night.

fiv) We (go) to watch a football match today
afternoon.

(v} An apple a day (keep) the doctor away.

(vi) The other employees had already left the office
but John (still work) there.

Correct any two of the following : 1x2=2

(a) The honesty is the best policy.

(b) She invited my husband and myself, -

(c) She is one of the tallest girl in the class.

(d) Give me .the'scissor. :

8. Rewrite the following sentences as directed (any two) :
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1x2=2

(a) He works like a donkey all day long.
e ' (Change into negative- 1nterrogat1ve]
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9.
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(8)

(b) John admitted his guilt.
(Change into complex sentence)

{c) He liked what I suggested.
(Change into simple sentence)

(d) Being innocent, he never thought of running away.
(Change into compound sentence)

SECTION—D
( Textual Questions )

Read any of the stanzas given below and answer the
questions that follow :

(@) And who art thou? Said I to the soft-falling shower,
Which, strange to tell, gave me an answer, as
here translated :
I am the Poem of Earth, said the voice of the rain,
~ Eternal I rise impalpable out of the land and
the bottomless sea,
Upward to heaven, whence vaguely form’d, altogether
changed, and yet the same

fii To whom the question is asked?
(ii) Who is the Poem of Earth?
(fii) Who rises eternally?

- fiv) To where does it rise?

(v) Write a brief summary of the above stanza.

H

1

1

1

(9)

OR

{b) When did my childhood go?

Was it the time I realized that adults were not
All they seemed to be,

They talked of love and preached of love,

But did not act so lovingly,

Was that the day!

i} Where do these lines occur? 1

(i) When does the poet think that he lost his
childhood?

1
(iii} What do the adults talk of? 1
(iv) Do the adults act lovingly? 1
{v) What does the speaker think about the adults? 4

10. Answer any. two of the following. questions : 3x2=6
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(@)

)

(c)

(d)

(e)

What does rain do to the earth, as has been said by
the voice of the rain?

What is the ‘aboured ease of loss’ in the poem,
A Photograph?-

Briefly evaluate the poet’s attitude towards life as seen
in the last stanza of the poem, A Photograph.

Why does the poet say that his childhood “went to
some forgotten place”?

What does the phrase ‘strange to tell’ mean in the |
poem, The Voice of the Rain?
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( 10 ) (' 11 )
11. Answer any five of the following questions : 2x5=10 13. Answer any one of the following questions : | 6

() How did the author’s grandmother look? (a} How do you distinguish between information

. _ _ o . thering and insight formation from your reading of
b) How did th thor’s grandfather look in his portrait? ga y g
(b) How di ¢ authors gr a _ P Albert Einstein at School?

{c) How did the author’s grandmother prepare to take him

to the village school? _ {bj “The school system often curbs individual talents.”
’ ' | Discuss this matter from your readmg of Albert
(d) Why did the author’s grandmother not like his city Einstein at School.
school" -

_ (c) What do you understand about Einstein’s nature from
() What do the earth’s vital si gns reveal? _ his conversations with his History Teacher, his
: Mathematics Teacher, and his Head Teacher?
(i Why is it said that “forests precede mankind; deserts ,_
follow”? : 14. Answer any two of the following questions in brief : 2x2=4

{g) How can population explosion be controlled? (a) Why did Mr. Braun scold young Einstein?

(h} What are the things that Verrier Elwin loves about

(b} Why did Albert see no point in learning dates and facts
Assam?

from History books?

fii What does Verrier Elwin like about the people of ¢/ What was Mathematics Teacher Koch’s opinion about
Kenya and Tanganyka? _ _ Albert?

(i) What does Verrier Elwin say about the art of personal {d) Who was Yuri? How did he help Albert?
decoration of the people of Assam? '

¢ ke
12. (o) “Industry has a most cruc1a1 role to play in this new

Era of Responsibility.” Elaborate this view. 6
OR

(b) Describe how the author’s grandmother fed the
sparrows in the afternoon. 6

/21 /21 | Co321
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No.
No.
No.
No.
No.
No.
No.
No.
No.
. No.
No.
No.
No.
No.
No.
. No.

ALLOTMENT OF MARKS

1 carries I mark each
2 carries 2 marks each
3 carries 4 marks each
4 carries 6 marks

5 carries 2 marks

6 carries I mark |

7 carries 4 marks

8 carries I mark each
9 carries 2 marks each
10 Carries 4 marks each
11 carries 6 marks

12 carries I mark each

13 carries 6 marks -

14 carries 4 marks each

15 cérries I mark each

16 carries 2 marks each

1x8 = 8
2x5 = 10
4x4 = 16

-6
- 2
= 1 -
= 4
1x3= 3
2x4 = 8
4x2 = 8

| .

1x4 = 4
=.6
4x2 = 8
1x4 = 4
2x3= 6
Total = 100
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. No.
. Nos, 2 & 3 carry 5 marks each
No.
No.
No.
No.
No.
No.,
No.
. No.
No.

ALLOTMENT OF MARKS

1 carries ! mark each

4 carries 6 marks

5 carries 1 mark each

6 carries 5 marks |

7 carries 2 marks each
8 carries 6 marks

9 (a) carries 3 marks each
9 (b) carries 5 marks

9 (¢} carries 1 mark

9 (d) carries 2 marks

Nos. 10 & 11 carry 5 marks each

No.
No.
. No.
. No.
. No.
. Nos. 15 & 16 carry 6 marks each
. No.

12 carries 6 marks

13 carries 4 marks

14 (a} carries 5 marks

14 (b) ca‘fries_ 2 marks each
14 (c) carries I mark

17 carries 1 mark each

1x4 = 4
5x2 =10
= 6
1x4 = 4
= 5
2x3 = 6
| -6
3x2 = 6
= 5
= 1
= 2
'5x2 =10
= 6
= 4
2x2 = 4
=1
6x2 =12
1x3 = 3
Total = 100
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| | - Total = 40
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(2)

1. (@} Answer in one or two words :

tﬂﬁ@’iﬁl‘ﬁ%%‘ﬁﬁm:

fij Define biodiversity.

Cra Cafbare sreest i 1

1x5=5

{ii) What is the name of the solid mantle of the earth?
7@ e TR T R 2

(i) Which day is observed as the World Environment

Day?

@ SIRCY ‘R R Tzt Smem 1 2w ?

(iv) Give the name of a Biosphere Reserve of Assam.
oA a9 R Rerse @

(v} Write the full form of NIDM.

 NIDM = s ikt B 1

" (b} Fill in the blanks :

/58

41 STRCI 7T I

1%3=3

(i) ‘The First Decade of Action for Road  Safety” is-

(ii) Tiger is

g 7' REfsTE
fii) Cholera is a

R T @Y

- s <ot oo i T 9 GG oY X

] Torere |
disease.
EEINC IR

level consumer of ecosystem.

(3)

2. Write short accounts of (any five) : - 2x5=10
vy et Fra (R caean <idn)
{a) Food chain
i3 "R

{b) Ex situ conservation

SIS

{c} Sources of sound pollutidn
T A TPTE
(d) Causes of threats to ‘biodiversity
ted (Afb@rs WO FEPTR.
{e) The Wildlife (Protection) Act, 1972
e () W, 1972
{f} Acid rain
s
(g} Greenhoﬁée efféét. :

3. Define and distinguish (any four) : o - (2‘+1)x4=12.
el i A ot (R e wiRe) - |
{a) Lithosphere_ and Hydrqsp_hef__e

TS AP T |
(b) Producér and Consumer

T e BT
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(4

{¢) Renewable and Non-renewable resources

SRR BIF SHAPICTIN STof

(d) Pollutant and Pollution
AE F A7l

{e) Road mafking and Zebra crossing
Y (I W (o] TR |

{} _Biodegraaable and Non—bio.degrad_a.b.le. wastés
Zmﬁmﬁawtmwﬁmﬁw%w# |

4. Answer the following quesﬁons (any two) ~ Bx2=10 .

WWWW(@W@)

{a) Describe the various air pollUtants.

%Wwwa@wr

(b} What do you mean by global warmmg? Ment10n two
consequences of global warming, -

CWWWW%W?WEEWWWr
(c) Wnte the 1mportance of health and hyglene
A RS g o | | "

{d} Write the major causes of deforestatmn in N E Indla

oeT Te- ﬁwww mwamwwﬁﬁn: |

L & 3
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1.

/29

(2)

A : .
nswer the following as directed (any twelve) : 1x12=12

TS e ﬁ?‘r‘*ﬂﬁﬁ Taq gy R @ ) -

(@) Who authored On the OriQin of Speciés?
On the Origin of Species &9« AT Iy 2

b . .
(b) What is the meaning of the word Homo sapiens?

W TR o e f o

(¢ Where is the Altamira cave located?

{d} Who was Amerigo Vespucci?.
SR ce5offS e it o

(e} In_which year was the First World war begun'é
(P BTS2 R oS oafosr o

() Who was the last ruler of Independent Babylo'n?

IR QR e e o 2
(g) What is ‘One Thousand and One Nights’?
T TR <3 A’ 7 -
(h) When was the French .Revolution begun?
TR Rem oo siRs 2afeer 9 o
(i) Who was the leader of Luddism?
AT TS (T e 2
() Mesopotamian w
eapons '
trone o were made up of
N ( Choose the correct
answer )
@mﬂzﬁﬁmw____ﬂﬁi%: (3 / ©m)
| ( @% Tt 3R ey )

(3)

(k) Who wrote the Feudal Society?

Feudal Society &®4e (&ta Tz ?

(l  What do you understand by the word ‘Renaissance’?
Norcui SR RGE

{m) In which year was i:he_Suez Canal opened for trade?

(I DS TS A TP AT T 0 2

(n) During whose reign was the Dome of Rock

constructed?
1 fore Dome of Rock ffiet @1 t=feF 2

(o) Who was Aryabhatta?

o(Eg W ifRE 7

(p) When was the British East India Company
established? _ : _ '
fifbe 28 2w P @ vTe 2if sl 39t 7

(@ ___ wrote The Natural History. (Elder Pliny / Tacitus)
( Choose the correct answer )
s | (o B/ Ge)

The Natural History
( % ToTh i Teredr )

was known as the Father of Neo-Persian Poetry’.

()
(Firdausi / Rudaki)

{ Choose the correct answer )
7 Sren R P ek w3y
(Rtd® [/ @mrd) o | -

R . - ( wm T AR e )

[ Contd.
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(4 | N | (5)

. . . i b
' ' . - . ligious rituals practised by
2. Answer the following questions in brief (any twelve) : - (k) Write y two  religlo

/29

wmﬂﬁai@mﬁm(ﬁmwﬁ):

{a) What is fossil?

Glary 7 2

(b} What is cuneiform? From which language is it
derived?

%ﬁﬂ%?wmwwwmm?

fc) What is the meaning of the word ‘Mesopotamia’?
Name the two rivers in the middle of which
Mesopotamia was Iocated.

‘mm%ﬁm’mwﬁs?mwﬁawmm%ﬁm

$7?

(d) What do you understand by division of labour?
X1 FReres e & gem0 |

‘fe) Which two languages were used in administration in

the Roman Empire? _
(R T51 SR (AN S5 2PPTRR PI-Ters e tefeer 2

{f). Write any two legal rights enjoyed by the women in the
Roman Empire. :

G ST 32 =1 41 R oA 551 s e vy

(g) Mention the two special taxes paid by the
non-Muslims in the Central Islamic Empire.

wm?@rﬁﬁam@%ﬁiﬁ%ﬂwﬁﬁﬁmmwﬁﬂﬁﬁi?

/29

2x12-24 - Muhammad.

ST ofor T RGPl o1 ¥ iR o

(ii What is cosmography?
T AF 72

() Name two important cities of Italy.

IS T BT 5TI A |

| (k) Write any two privileges enjoyed by the Nobility of

France.

R TS e-cﬁﬁﬁﬁmWWﬁmﬁﬁmﬁmﬁm |
() What were the functions of guilds?
Moz IHEA =i 7
(m) Mention any two demerits of industria.lization.
i R G@IC! o1 g% o o
{n) Who ﬁrst used the word ‘Industrial Revolution’?
QTR R’ <91 49T (I 9T T 2
(0) What was triangular trade?
i @ & 2 -
(p) What is oral history?
ke 396t 2
(q) Néme two. provinces of Near East.
TR 2T (3= 2T A o

[I Contd.



meﬁ(ﬁ@mm). ) 4x10=40

between hominoids

< WT{%W@WW%W

and

/29

(7))

(i} Discuss how modernization transformed the daily life
of the Japanese. '

SNPTF ie Seee SR (gemE aeiRe i,
A P |

(il Make a brief note on the encounters of the native of
North America with the European. ' '

Teq AR o1 ABMPRER TSN s @R N e
aft o ¢BrReT ot |

(k) Discuss about the causes of the Industrial Revolution
in Britain. '

Bhee o e SIg (A SRR S < |

(I} Explain the developmerits which reflected the
humanist thought.

e DU afswom & 15 cvae Lafes), S 54 |

{m) How did the developments of canals and railways help
in industrialization?

W S (eI SafE Srnieae T 1Y IfRkE 2

(n) Write a note on humanist thoughts.

TRt BERE e’ aff R fd |

4, Answer the folloWing questions (any four) : - 6x4=24

SO 2P e frn (R e wiiRGy) -

{a} Discuss about the learning and culture in the Central
Islamic States.

TG TR (e Bt o Sievgfed e St < |

/29 | | [ Contd.
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(b)

(c)

(8)

Discuss about the trade and commerce of the Roman

Empire.

WWWWWWW:

What were the three orders of the French soc1ety'9
Write briefly on each of them.

TR ew e ft B R wifem 2 (o remﬁwmﬁmﬁi[h

- Tt

(d)

Write a note on the Meiji Restoration in Japan.

TS (R e [Rac ofs G foran

Discuss the rise of the Communist Party of China.

B 3feRE wor Sume Racg sicems =

Draw a map' of Britain and show the centers of iron
and coal manufacturmg

‘%‘@aammﬁawmﬁmww%@www
fofee <=1 |

Or / 7571

Draw a map of Britain and show the cotton cloth
producing. areas.

-ﬁﬁ%ﬁ@@ﬂmﬁ‘wmﬁﬁﬁﬁwmwm-

fofes =41 |

* %k
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1.

/28

(2)

PART—A
Re—=

Answer the following as directed :
oo TR Mot sepii ee i
(a) What do you understand by market economy?

FER A et & 3o 2

(b} Opportunity cost is also known as _ ____ cost.
( Fill in the blank )

A TEE I8 Yfre & IR |
(=l SR o )
(¢c) Define utility. |
Torafarer e o o
{d) What is ‘the shape of average product curve?
M TR (AT PR (FAgal ?

{e} What is the relation between marginal cost curve of a
firm and its supply curve?

AFEDN QT AT T (@Y IF S @Y 370 5 2

{fi What is price-ceiling?
WA TSy 1% 2

What are the central problems of an economy?
HYAS YT Y TP 5 52
OR / &%l

What does a production possibility curve indicate? -

T BT (4R R o w1 2

3.

(3)

Write the law of diminishing marginal utility.

- BEPI 2ifes Segaiferer f&fEch forer |

/28

OR / g1

What is complementary good? Write with example.
AR w1 75 7 TmrgenTe B o

. What do you understand by fixed factor and variable

factor of production?

Beord &3 o W ARSI Soree Jforest e g 2

State the law of variable proportion.
ARTGTN weire R forar |
OR / 9311

What is market supply? How is the market supply curve

derived? 1+1=2

IS SN T 2 I @IS (@ @A TR I T 9

Write the conditions for determining profit maximizing
output for a firmm under perfect competition.

o ofSTRfroR Tem IRER wrEsle efom uwa =S SR T B9
fRefrer MR e czran vEeRp fore |

OR / 9%

“Firms under monopolistic competition produce
differentiated products.” Interpret the sentence. '

“qrobuT afermier TwRT Swee Afd cndeEe W Beerm
TR AR L iz e |

[ Contd.
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(4)

(@) What does a budget line indicate?
ACEG @41R P w2
{b) The slope of the budget line is __ . _
( Fill in the blank )
OB @R
(<N SR e )
OR / &3y

What do you understand by ‘monotonic preferences’?

ST SR’ o & 3w 2

Prepare an irnaginary demand schedule and on its basis,
draw a demand curve.

4 T ST PP tow T W T RR qo SR )
SR FAN

OR / 5241

Discuss the characteristics of indifference curve,

freers @ caPBpR S |

The following table gives total cost (TC) schedule of a firm.
Determine total variable cost (TVC), average variable cost
(AVC), average cost (AC) and marginal cost (MC) schedule :

O SIS AfSE G o T (TC) Sl o wieR | T ARS N

T (TVC), 51 “fIqEe T (AVC), 1 T8 (AC) W 2ifde T
(MC) =Pl siermqt 35

Euann'ty of Output (Q)| 0 | 1 2 3 | 4
Ty W (Q) :

Total Cost (TC) 10 | 40 [ 60 | 80 | o5
T34 (TC) ' |

10.

11.

/28

(S)

OR / 9391

{a) Define average fixed cost.
a1 & T iee for |

(b} When a firm produces 4 units of output, its total cost
is ¥40 and total variable cost is ¥20. Calculate

average fixed cost.

997 BTN 4 (M TY Teomw IR P T W 40 I WF
6 RN T = 20 T 1 o1 T T orewn A\

{c} Draw an average fixed cost curve.

GEIe] 91% 79 Y (Y1 P 9] |

Write fbur differences between perfectly competitive
market and monopoly market.

7o afScafEre TeR Wi FEHA TR GG el foa |
OR / w44 - |

Write the characteristics of monopolistic competitive
market.

aoofbanal efecarrer qemas (afEPTER |

Define the following : | o | 1x4=4

ICICR M ES R T

{a) Normal profit
ol e

{b) Super-normal profit

[ Contd.



(6) | (7)

{c) Break-even point : : OR / &%<1

e
(a) Define production function. 1

(d) Shut-down point TeoAm AT gl 9 |

(b) What does an isoquant indicate? 1

e 7= Ry
- -Beeme ([ e 723 2 |
12. ?neﬂy discuss two factors that affect supply curve of a () The )Slope of an Isoquant s (positive / negative /
' irm zero).
4 s . »
( Fill in the blank with the correct option ) 1
Wﬂwmﬂmﬁwwwﬁwﬁw@ﬁwﬁmw |
el FH-T-AM (Y19 B (S [/ ANGF [ ¥F0) |
OR / 4] (TR R STRITS Y 9% 78 94 )
Di X _ : (d) The production function for a firm is given as
attz%flaercrilmatlcaﬂy explain how market equilibrium  is Q =2L°K?, where Q is quantity of output, L is the
4 .
G S SE] (T S & amount of labour employed and K is the amount of
= AR capital employed. Find total output when the firm
' ' | employs 5 units of labour and 2 units of capital.
13. (@) What is marginal revenue of a firm? 1 Estimate total output if labour employed falls to 0 unit
2fevW @9 2nfes = 3 2 : ' and capital employed increases to 10 units. 3
2B g 2TS ST T (R Q = 2IPK 2 TS Q (20" T
(b) Write the d1fference between revenue and profit of a oA, L taer X R WF K R TR S L S o ww
firm, | 1 R 2 o e e FReE afetmeR 1 e w292
AV G414 T2 1 W S AR e ke Ry | gﬂ%ﬁwef;%mﬁammwaﬂwmﬂ 1ocenttvf§f%§’zﬁ
- o fef <
{c) For a firm d :
Price (P) = Av;-n = Rperfect competition, show that 14. What do you understand by movement along the demand
(MR). age kevenue (AR) = Marginal Revenue - curve and shift in the demand curve? Explain with the
o ' 4 help of diagram. 6
ARCPeN TemT wefe afedm @ A |
C??i@"*’ﬂ < ..Wwwwsﬁmﬁmwiﬁﬁﬁ ‘?WWW
TR (P) = 518 W (AR) = 23T 5W (MR) | T | =

/28 | | _
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( 8)

OR / &<

(a) What does price elasticity of demand indicate?

wifzvR 7w e [ Fom 912

(b} Write the formula of calculating price elasticity of
demand.

vifRw v ffemeree e st B

(¢ What do you understand by ‘elastic demand’ and.

‘4nelastic demand’?

W%W’W‘W%W’Wﬁﬁ?

{d) When the price of a commodity is ¥ 4, then 25 units of
it is demanded. When the price increases to ¥ 5, the
quantity demanded falls to 20 units. Calculate price
elasticity of demand.

4 59 wgS W@ @R 25 cwﬁmﬁﬂwanmsﬁaﬂiﬁfqﬁmm
BIf%H 20 (3BLet T« | B1fRne 7 SR S 4 |

PART—B
Rem—y

15. Answer the following as directed :

were fraiees o sepif Tes f

(a) Who is known as the father of economics?

wf@we e e F1e &= A2

(b) Give the meaning of statistics in plural sense.

JgA6T® “Afn o fory |

16.

17.

/28

(9)

(c) What is primary data?
eafie o &6 2

(d) Statistics deals only with quantitative data.

( Write whether the statement is True or False )
ﬁﬁﬂﬂnﬁwmmm% warcz fAoR ¥ |
(Tfecer ool mﬁaﬁﬁn)

(e) Arithmetic mean is mostly affected by
( Fill in the blank )

wmm;_wmmﬁfwa—ﬁw T |
(=Nt of <[ 31 )

(f) Index numbers are also termed as
( F111 in the blank )

5P TR fere &1 A |

(9 oR 2T T )
Write two importances of statistics in economics.
S UM 15 8wy fan |

OR / &%

Mention any two limitations of statistics.

offRaa R PR 71 SRSl TTEe 1 |

Write two advantages of direct personal investigation
method of data collection. '

2 R 2T IS SFPT AF[S 151 R forr
OR / &%

Write two advantages of classification of data.

S e 71 [ o

[ Contd.
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18. What do you understand by class frequency and class
interval?
R RIS S ) S e R e 2
OR / 5%

Write two differences between discrete and continuous
variable,

 fifien vore T wiffies SeTRe 71 A1l s

19. Write two characteristics of a good average.

oIe S Yol CariEy fere |

20. Write two merits of mode.

eI YOl Ryl o

21, Write the formula of calculating median for continuous
frequency distribution.

i Tl fReTeE CeRare T e S e |
OR / &%

Give the formula of calculating arithmetic mean by step
deviation method in case of continucus series.

Wity ey oFae FI-1955W &[S 28 IR A VW S99 IFI9

BT ot !

22. What are the advantages of sampling method of data
collection over the census method?
T SRR PRE S were Al ~rfed ARugz & & o
OR / <1
Write the characteristics of a good questionnaire.

94 S PR (AREPR foren

23. Brieﬂy discuss the importance of index number.
T AT GFF BT D 40 ¢

/28

24.

25.

26.

/28

( 11 )

OR / =I%11
Mention the steps in constructing index number. 4

SHFIEE IR T TCEY A |

Define correlation. What do you understand by positive,
negative and zero correlation? Write with example.
1+1+1+1=4

ST TRE | G, 4UNE W P T e [ @2
TwrRRepTE, o | _

OR / &<

Explain the concept of scatter diagram. 4

AR TBg 4RI Iy <4 |

What is range? Write one merit and two demerits of range.
1+1+2=4

e R 2 Rwes b1 @9 =% 751 o o |
OR / %337

Write a short note on ‘measures of dispersion’, 4

“TRvgaer o' g @bt o CBret vt |

Discuss the limitations of median. 4
TR ST ST 4 |

OR / %
Determine median for the following distribution : 4
weld o Aa S ey 94 |

Wages (in¥) [20]21 (22232425126 ;27|28
g (5Fre)
No. of Workers| 8 [10]11|16|20|25|119| 9 | 6
NPT < |

[ Contd.
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27. Briefly discuss the merits and demerits of arithmetic
mean. : 6

TR TG R SF SPIIGPTR DRSPS0 T4 |
| OR / &1

o) What do you understand by measures of central
tendency? ' . 1

PR eReTe Mot v < gm 2

(b) What are the three main types of measures of central ﬂ
tendency? Define each of them. 1+3=4 i

@R 2RISR Sy Mot foRG & R 2 2SR weew foan |

{c) Write the empirical relation between mean, median
and mode. ' 1

e, NN I TLI N AR HowrhTs) e |

- 28. Briefly discuss four advantages and two disadvantages of

diagrammatic presentation of data. 4+2=6
foum e we SoerR BIRGT R = wh1 SR BILe ScEe 4 |

| OR / w53l ,,
What do you understand by tabulation of data? Briefly
discuss the objectives of tabulation of data. 2+4=6 ,
R SRR e & oqw? eI oReRTR SRR THE g
ECETeS P4l | . .

* ke *

/28 | | o 321
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1.

/3

(2)

UNIT—]

( Reading an Unseen Passage and a Poem }

Read the passage given below and answer the questions
that follow : |

Just at that turning between Market Road and the lane
leading to the chemist’s shop he had his establishment.
If ahyone doesn’t like the word ‘establishment’, he is
welcome 1o say so, because it was actually something of a
vision spun out of air. At eight you would not see him, and
again at ten yoti would see nothing, but between eight and
ten he arrived, sold his goods and departed.

Those who saw him remarked thus, “Lucky fellow! He
has hardly an hour’s work a day and he pockets
ten rupees—what graduates are unable to earn! Three
hundred rupees a month!” He felt irritated when he heard
such glib remarks and said, “What these folk do not see is
that I sit before the oven practically all day frying all this
stuff...

He got up when the cock in the next house crowed

sometimes it had a habit of waking up at three in the
morning and letting out a shriek. “Why has the cock lost
its normal sleep?” Rama wondered as he awoke, but it was
a signal he could not miss. Whether it was three o’clock or
four, it was all the same to him. He had to get up and start
his day.

At about 8:15 in the evening he arrived with a load of stuff.
He looked as if he had four arms, so many things he

/3

(3)

carried about him. His equipment was the big tray
balanced on his head, with its assortment of edibles, a
stool stuck in the crook of his arm, a lamp in another
hand, a couple of portable legs for mounting his tray. He
lit the lamp, a lantern which consumed six pies’ worth of
kerosene every day, and kept it near at hand, since he did
not like to depend only upon electricity, having to guard a
lot of loose cash and a variety of miscellaneous articles.

‘When he set up his tray with the little larrfp illuminating
his display, even a confirmed dyspeptic could not pass by
without throwing a look at it. A heap of bondas, which
seemed puffed and hig but melted in one’s mouth; dosais,
white, round and limp, loocking like layers of muslin;
chappatis so thin that you could lift fifty of them on a little
finger; duck’s eggs, hard-boiled, reserribling a heap of ivory
balls; and perpetually boiling coffee on a stove. He had a
separate aluminum pot in which he kept chutney, which
went gratis with almost every item.

He always arrived in time to catch the cinema crowd
comlng out after the evening show. A pretender to the
throne, a young scraggy fellow, sat on his spot until he
arrived and did business, but our friend did not let that
bother him unduly In fact, he felt generous enough to say,
“Let the poor rat do his busmess when I am not there.”
This sentiment was amply respected, and the pretender

moved off a minute before the arrival of the prince among
caterers.

[ Contd.
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(4)

His customers liked him. They said in admiration, “Is
there another place where you can get coffee for six pies
and four chappatis for an anna?” They sat around his tray,
taking what they wanted. A dozen hands hovered about it
every minute, because his customers were entitled to pick

up, examine and accept their stuff after proper scrutiny.

Though so many hands were probing the lot, he knew
exactly who was taking what he knew by an
extraordinary sense which of the jutka-drivers was picking

up chappatis at a given moment; he could even mention

‘his licence number; he knew that the stained hand

nervously coming up was that of the youngster who
polished the shoes of passers-by; and he knew exactly at
what hour he would see the wrestler’s arm searching for
the perfect duck’s egg, which would be knocked against
the tray corner before consumption.

His custom was drawn from the population swarming
the pavement : the boot-polish boys, for instance, who
wandered to and fro with brush and polish in a bag,
endlessly soliciting, “Polish, sir, polish!” Rama had a soft

~corner in his heart for the waifs. When he saw some fat

customer haggling over the payment to one of these
youngsters he felt like shouting, “Give the poor fellow a
little more. Don’t grudge it. If you pay an anna more he
can have a dosai and a chappati. As it is, the poor fellow is
on half-rations and remains half-starved all day.”

/3

(5)

- It rent his heart to see their hungry, hollow eyes; it pained

him to note the rags they wore; and it made him very
unhappy to see the tremendous eagerness with which they
came to him, laying aside their brown bags. But what
could he do? He could not run a charity show; that was
impossible. He measured out their half-glass of coffee
correct to the fraction of an inch, but they could cling to
the glass as long as they liked.

Questions

(a) State True or False : Yax4=2

{i) Rama owned a catering industry.

{iiy The eatables on the tray were not at all tempting
for the customers.

{it) The person in the -pr_ese-nt context is an early

riser.

(iv) The passage details on the activities of a charity

show.

(b} Where was the ‘eétabl_ishmcnt’ located? 1
(¢) Why did Rama keep the lantern near at hand? 1
(d} Enlist the food items mentioned 1r1 the passage. 2

fe)} Who is the ‘poor rat’ referred to? What did 9t’ do before
the ‘prince’ arrived? : S 1+1=2
() How did Rama feel for the waifs? Comment. 2
[ Contd.
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2. Read the poem given below and on the basis of your

/3

reading, answer the questions that follow :

Whose woods these are I think I know.
His house is in the village though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near

Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.

* The only other sound’s the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,
But I have promises to keep,

And miles to go before I sleep,

And miles to go before I sleep.

Questions .

(@) What are the two sounds hinted at in the poem?

(b) The poem indicates a particular season of the year.
What is it?

{¢) What do ydu know about the ownrer of the woods?

(d) Explain the line “And miles to go hefore I sleep”.

{7)

UNIT—II
( Poetry and Prose )

[ Poetry |

3. Answer either {a} or (b} :

(@

/3

(b)

Continuous as the stars that shine
And twinkle on the milky way,

‘They stretched in never-ending line
Along the margin of a bay :

Ten thousand saw I at a glance,

Tossing their heads in sprightly dance.

(i) Answer any two of the following questions :
1. Name the poet of the lines given above.
2. Where were ‘they’ stretching? |
3. Give the meaning of the word *sprightly’.

(i) EXpla.in any three poetic devices used in
above lines along with their contexts.

OR

How does the poet describe ‘them’?

So, I have learnt many things, son,
I have learned to wear many faces
like dresses—homeface, '
-ofﬁceface; streetface, hostface,

1x2=2

the
3
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cocktailface, with all their conforming smiles
like a fixed portrait smile.

) Answer any two of the following questions : 1x2=2
1. Who is being addressed in the given lines?
2. Identify a simile used in the above lines.
3. What does ‘éonforming’ mean?

(i} Pick up different sorts of faces referred to in the
above lines. Enumerate them. 3

OR

“As a satire on modern life, the poem mocks
and ridicules some of the common behavioural
patterns.” Examine the above lines in the light of
the given statement. ' 3

4. Answer any one of the following questions in about

/3

80 words : : 5

(@) Don’t you feel that the poem, When Autumn Came
presents nature as a negative, decimating force?
Argue.

(b} Analyse the poem, The Daffodils as an illustration of

the Wordsworthian dictum about poetry being- “the

- spontaneous overflow of powerful emotions recollected
in tranquility”.

(9)

5. Answer any three of the f{ollowing questions within

- 25 words each :

/3

(b} Explain the line “I wondered lonely as a cloud”.

2%x3=6

{a) Why has the poet described solitude as being blissful?

(c/ Why did the speakér want to unlearn the muting

things?

{d) What is ‘resurrection’ in the context of the trees’

withered bodies?

{e) How does Faiz Ahmed Faiz suggest the sociological

dimension in the poem you have read?

. Answer any two of the following questions :

3x2=6

(a)’ The lonely poet of the beginning finds his heart filled

with pleasure towards the end. Explore the reason

behind such transformation.

{b} Narrate what had happened to the birds in autumn.

(c) Why, do you think, the poet sees snake’s bare fangs in

the mirror?.

Answer any three of the following questions in ] sentence

each :

(a) Name the poetic 'autobiography written
Wordsworth. '

(b) What is the gift of green?

1x3=3

by

[ Contd.
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{c) Who is Okolo?

(d) Match the items of List-A with those of List-B :

List-A List-B

(i) Wordsworth (1} Urdu poet

(i) Okara (2) English poet

(ifi) Faiz (3) Nigerian poet
[ Prose ]

8. Answer either {a) or (b) :

/3

(@) 1t was pointed out to her that the pavement was the
place for foot paSsengers, but she replied, “I’'m going to
walk where I like. We've got liberty now.”

{i} Who replies with the words within quotations?
(i) Which time period is referred to by ‘now’?
(i) What was pointed out to her?
fiv} How did the author comment on the issﬁe of
liberty?

(b) ...it also means the tiger and the rhino and the
elephant, charismatic animals that evoke awe and
excitement, and which are used as flagship’ species
for conservation programmes.

{if Who is/are the author/authors here?
(i) Why are certain animals called charismatic?

(i) Explain ‘ﬂagship’ species.

1.

1

1

90

10.

11.

/3

( 11 )

Answer any one of the following questions in 80 words : -5

(a) Prepare a character sketch of Pyotr Petrovich Milkin.

(b} “...if trees, grass, herbs, creepers, etc., all grow then,
won’t there be economic development?” How do you
‘reply to this?

(c) Discuss the major themes of the essay, The Rule of
the Road.

Answer any two of the following questions within 25 words
each : . 2x2=4

(a) What do you understand by “Hamlet’s device_” n
relation to the suitor’s trick?

{b} Why did Pyotr’s friend ask for a stag party?

(c) Write a very short note on the title, The Many and
~ the None. | |

(d) What, according to Gardiner, are the liberties to
preserve? |

Answer any two of the following questions within 40 words

each : : o 3x2=6

(@) Who is Hazlitt? What did he say about learning the
. fearsome instrument trambone?

(b) What is bio-piracy? How does it affect a country?

[ Contd.



(12 ) (13 )

(c) How does Anton Chekhov deal with the theme of love 14. Add question tag to the following sentences {any four :
and marriage in The Suitor and Papa? Is the approach o ' 1x4=4
tragic, comical or satirical? {a) Each of them is attentive, __  ?
(b} You cannot go there, 7
12, {a) Give the meaning of any drie of the following words : 1 \ {c) Stop fighting, ____?
i) embezzlement _ : (d} He hardly visits his old parents, __;?
(ii) appélled ' (e} Let’s not waste water, ___?

(fl Everybody is responsible for the loss of democratic

(b} Give the synonyms of any two of the following words : 2
values, ?

fi) banality _ _
{g) The culprits had not yet been punished, ?
‘i) cordial -

() - chaos _ 15. Fill in the blanks with appropriate prepositions (any five} :

(c) Give the antonyms of any two of the following words : 2 : : 155
(i) anarchy | S {a} The path of our life is beset difficulties.
(i) dumbfounded ' ' | (b} We cannot prohibit ourselves __ getting dejected.
(i) exclusive _ (c) Sometimes we do not understand sadness, that is
' our reach.

(d) In extreme adversity, both our mind and body will

UNIT—III break :
( Grammar } | : (e) Still we need to carry our responsibilities.
13. Make sentences with any three pairs of words to illustrate (/) Pain too is vital ___ our soul’s enhancement.
the difference in meaning between them : 2x3=6 (g} We are hardly aware others’ pain.
adopt-adept ; sensible—sensitive ; hair-hare ; : (h) During crisis, one should turn _ strong
advice-advise ; book-book ; local-locale | o philosophy.

/3 | /3 [ Contd.



16.

17,

{14 )

Fill in the blanks with appropriate articles where

necessary (any five) : 1x5=5
(@) Hrishikesh is _____ MBA.

(b) Just ___ hour ago the result was deciared.

{c) He is one of ____ brightest students.

(d} But he needs to. be _ _ little careful about his
| personality. “

{e} He thinks himself _ Dilip Shangw

(/’ Imet _____ his teacher yesterday.

(g} | He should study __ feW books in the library on

-entrepreneurship. '

{h} His career will come to close once he stops

learning.-

- UNIT—IV
( Creative Writing Skill )

Write a paragraph in about 180-200 words on any one of
the following : " | 8

- {a) Covid-19

/3

(b} Your Favourite Poet
{c) Your Opinion on Online Class

(d} IPL in UAE

/3

(15 )

18. Develop a story from the given outlines :

Three men resting under an apple tree—an apple fell oniso
the ground—Adam commented, “Don’t touch it, it is the
symbol of sin”-Isaac remarked, “Let me discover
something new out of this.” Steve opined, “I can think
of a new business with this frui S—Argument among
them—the tree enunciated, “Nonsense! First I must be
here, otherwise all your arguments go in vain.” |

L
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PART—A
1

( Indian Constitution at Work ) |

(T SRS AR )

1. () Who was the Vice President of the Constituent

/10'

Assembly?

SR ST To-TTefS G SR 2
{v) The Directive Principles of the State Policy are
justiciable.
( Write True or False )
913 ~fRorE Fofree TR s |
- (@1 T SpTes T )

{c) When was the Election Commission of India formed?

TEed IS S e s (=fes 2

{d) Who is the nominal executive in India?

WWWW"{WW?

{e) Who elects the members of the Legislative Assembly? |

Reprer e (@ FEvy 392

() In which case did ‘the Supreme Court advance the _'

theory of basic structure of the Constitution of India?

mwmcw—ﬁwwﬁwqamﬁavﬁ
wIsRBIRMRE ?

(3)

. Mention two functions of a Constitution.

.WiﬁWﬂW@TWWWI

Mention two goals of the Directive Pr1nc1p1es of the State
Policy. :

A <o Frofres M 1B o S 0 |

Mention two federal features of the Indian Constitution.

SR KRG o1 (S LA Seme wA

What do you mean by decéntralization of power?

- weR ReeRiesd I i g2

70

/10

How was the size of the Council of Ministers limited by the
91st Amendment Act (2003)?

9 15 FRENL HZHA (ZOOS)W‘J@WWWW

Why is India called a repubiic?
RO SRTe) o1 R T = 2

Discuss the differences between First Past the Post (FPTP)
system and Proportional Representation (PR) system.

‘o WA RSl R W Wﬁﬁ%ﬁf‘r WW

TR SCAGAT 41 |

2
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(4) . | - (5 )

9. Discuss the composition of State Legislative Assembly. 4

14. Discuss the composition and functwns of the Indi
| | - Parhament e
fers RUFRes (A 6 T, A F01
| - RS AT 915 SIF RFE SCEDA 4 |
OR / &

10. Explain the judicial review power of the Supreme Court of _
India. ; . _ 4 " Explain the law-making prbcedure of the

Parliament.
WWWWWWWWI . .

Indian

CITOR TR & - 2T “FaEH! T I |

11. Write a note on the centralizing tendency of the Indian
Constitution. ' ' 4

_ PART—B
TS KRR (PR 2ReTO SoS b1 (BT 7

A
{ Political Theory }

12, Write a short note on the political philosophy of the Indian | (TR T
Constitution. B o 4 '

| - 15. (a) Who wrote the book, L
S R AEAEF T eorS bl 5 (Rl EAs | » Long Walk to Freedom?

w1 § Frew awem e Fifee 2

(b) Give an example of economi i
'13. How is the Union Council of Ministers formed? Discuss its | © o

'powers and functions. ' 6 Gltafes W @Bl Trrzae fogr 1
@@'ﬂ Refw  ([ER 9135-1 T W TRTR HAO W W {c) In- which year was the Universal Declaration of Humén
e 9 | “ ) ' Rights (UDHR) adopted?
OR /7 o IR SR RGN CaReE R 2 2R
: Dlscuss the emergency powers of the Pres1dent of India. 6 . (d) Mention one element of nationali
- nationalism.
W@ﬂﬁ@ﬁ@ﬁﬂwwwl - | HIERERIME b1 Sormie Sewe 9 |
/10 | - : /10
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(6) | | 7))

(e} Give an e:iample of structural viclence. 1 21. Write two sources of contémporajy challenges towards
. : pbeace, 2
afsr Rt bt S fi | |
. TERIES s iy ofs ORI W51 e fapyy |
(/) Who wrote the book, Republic? 1 o - |
, : : S 22. Discuss the differences between Political Science and
AR st e Pt o o Economics, - | 4

WWW%W%WWW:

16. Mention two subject matters of political theory. 2 |
Wwiﬁﬁﬂm TLE 9 | _ R 23. Explain John Rawls’ theory of _]ustlce _ . | 4 |
| A TR TR SGCBT 51t 397 |
17. What do you mean by social justice? 2
WWW%W,} C 24. Discuss the features of development. 4
| o SR CARBPTE e g |
. Defi itizenship. - _ ' 2
: 18. De mee ' P . S 25. Mention four differences between citizens and aJ1ens. 4
%9 e o
T mﬁ%wﬁm%wmﬁﬁwwmwr«ﬂl
19. What is meant by National Right to Self- determmatmn? 2 26. Write a note op hon-violence. | ._ | .
WISR ST SRTR N 5 9 | S SR 677w 51 v ey |
20. Mention two chéracterisﬁcs .of a secular state. = 2 27. What is freedom? Explain the main dimensions of freedom. 6
QU GRTTTF NET T e om0 | - R R o Wﬁwﬁm‘gwwn

/10 | /10 | [ Contd.



( 8)

OR / 7z

What do you mean by equality? Discuss its various kinds.

et o & gan 7 [ien o TRerE s 9 |

28.

/10

“Po'litical liberty without economic equality is
meaningless.” Explain. -

‘ol e wiieg eSS FRTS! wRW 177 I 90 |
OR / &3

6

Discuss  the relationship between Rights and

Responsibilities.

RPN WE TS e T GG 71 |

% % %

6
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(2)
1. Give appropriate answer as directed - Ix12=12
TRTipics Ture S fra
(@) “Education is the natural, harmonious and

(b)

(c)

(d)

(e

/30

progressive development of man’s innate powers.”
Who said this statement?

‘e e e e, W@ﬂm‘wmﬁ%w

w177 SR e (ke 2

The period from birth to 5 years is called __
( Fill in the blank )}
TS A9 5 R NWRAF ?ﬁi CFRI = |
( I 5% T )

‘Hero worshiping is the characteristic of childhood.

( Write True or False )
A= PR (g |
( 351 & iy forar )

“Destiny of the nation is being shaped in her
classroom.” Who said this statement?

“qbl WS I 9gm omE o R APz M o |7
AR (I (R 2

Individuals having IQ below 25 are known as idiots.
( Write True or False )
THD 25-&‘@%%@3&@%:
(T @ T o)

“Teacher is like the candle Wthh llghts others in

consuming itself.” Who said this statement?

“Pres g9 awwwﬁmﬁmﬁt@w%*@%wcw
ﬁml”ﬁiwmtﬂﬁ%{?

(3)

(g/ What does ‘psyche’ mean?

‘Psyche’-3 9% 5 2

(h) Who is the father of educational psycholog,y'p
et e com o '

(i) Write the instinct related to appetlte emotlon

A A TS TS 2igfed i o |
/) In which year was the Assam Primary Education Act
' passed?
A= oTe S anafie Rl SR TR L2feet 2
(k) The word ‘habit’ is originated from the language

term ‘habitus’.
( Fill in the blank )
‘Habit’ *R75i ©RF ‘habitus’ =9/ [l Teoify 2rz |
Qﬂﬁ’liﬂ?ﬁqw)
() What is the name of the designation ‘of the officer

appointed by the Ahom rulers to look after the
management of ‘Satra’ institutions?

 SIICN TPTRRTRC ST WWW cmrﬁs—rzrﬁaa
*wmﬁwﬁﬂwﬁsﬁm? -

Answer the foHovw'ng'_ questions : ) 2x12=24
oY oPPTRY e TRy |

- (@) What is vocational aim of education?

/30

ﬁﬁwww%v

(b) Write any two differences between forrnal and
non-formal education.

WWWWW%W@WW-WH:
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| /30

(c) Write any two psycho-physical characteristics of

(@)

(e)

(4)

infancy.

PeprrereTd R (I 01 NoI- RS (g o o

Write any two professional qualities of a teacher.

tﬂ‘ﬁﬂﬁ‘ﬂﬂ?ﬁ CIICA Wo1 IReore @ i |

What is stimulus?

SR 52

Write any two defects of existing curriculum.

ofore ~narar R P g1 ScTrR e

(g)

Write two characteristics of habit.

eI o1 AP o 1

"

0)

(k)

U

Write a brief note on monitorial system.

bR 2% e aﬁsﬂcﬁmﬁaﬁ )

Mentlon any two steps of formmg good hablts
S S A5 fs‘: I W51 B9 B 90

Write any two recommendatmns made by Wood’ |

Despatch.
TR CaaeeraE SeRCeat R G ot o e o

Write any two main provieions of Gokhale’s Bill.

o4 Rerq R e ot Ane e e

Write any two objectives of DPEP.
DPEP 3 R e 451 Sowey o |

Answer the following questions :

(5)

4x10=40

T APTRd el e

(a)

(b)

(d)

(e)

(9)

Write four character1st1cs of democra’ﬂc aim of
education.

ﬁ‘iﬂaﬁ%@@wmﬁﬁmﬁ@lﬁml

Write four principles of curriculum construction.

N7 2Rgheq BIRGI it fora |

Write four principles to be followed by a teacher to
act as counsellor.

ﬂwm&snﬂ@wﬁwwqaﬁwmﬁﬁﬁlﬁwn

Mention any four branches of psychology.

mﬁmﬂaﬁmmﬁﬁmwmﬂw_n

Wr1te four methods of educatlonal psychology
-SRI RS forat 4

‘Write any f_our stages of pe_rcept_ioh..

TR R @IC BifReT €9 e |

Mention four characteristics of conception.

SRR BIRG CafiEy e 4 |

(v

/30

Write four methods of modification of instincts.

g8 ACNEHA BIEG! Pl T |
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(6)

i) Write a note on ‘Tol’ as indigenous educatlona.l
institution. '

TR PP 1351071 “Bret’s sorqe «fB (ormt e |

(il Mention four different types of children as classified
' on physical abilities,

Ww@ew%ﬁmﬁﬁwwaw@wm
2FE TEY 40|

4, What do you mean by individual aim of education?
Explain any four merits of social aim of education. 2+4=6

WWWW%{WWWW@@WW
B¢ Y T |

5. Discuss any three characteristics each of childhood and
adolescence period. 3+3=6

WWWWﬁWWWWWl
OR / 7%

What is childhood? Mention any two educational
provisions of childhood. Explam any three needs of
adolescence. - 1+2+3=6

Wﬁvvwﬁ@mzﬁWWWW|W
R e bt ercarem g w4 |

6. What do you mean by school plant? Discuss any four |

speci'al conditions’ to be fulfilled by a good library.  2+4=6

ﬁwmﬁﬁmmﬂﬁmiﬁwﬁ{w aﬁ—mwoﬁqaﬁa
ﬁmﬁ@msﬁﬁﬁmv‘waﬁu

/30

(7)

7. Which Article of the Indian Constitution Spéaks about
free and compulsory primary education? Explain any
- five objectives of Sarva Shiksha Abhiyan (SSA). | 1+5=6

ﬁﬂ"ﬁmﬁmﬁwﬁmﬁmwmmﬁwmwﬁﬁﬁww
wmm@mwﬁm(sm)—aﬁmmmwaﬁn

OR / wi&1

In which year was national ‘Janajagaran Prachesta’
programme accepted? Discuss any five characteristics of _
Total Literacy Campaign (TLC). _ 1+5=6
B vre IBW TEIRT ATHRr RO g A RfRE 7 o e
SR (TLC)-T & 1o st (a8 St 41

¥ ok
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